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Word Problems  

The Fairground 

 

Work out the answers to these problems. Show your working out. 

 

1. There are 3 dodgem cars, each car holds 2 people. How many people could go on the 

ride? 

 

2. 3 girls go on the teacups. It costs 10p each. How much did it cost altogether? 

 How much change would they get from £1? 

 

3. Mark & Rob went on the ghost train. It cost 20p each. How much did it cost altogether? 

 

4. Darren bought a toffee apple for 55p. How much change did he get from £1? 

 

5. The rollercoaster carriages hold 4 people. There are 5 carriages in total. How many peo-

ple can go on the ride? 

 

6. Suzy went on the waltzer. It costs 50p a go. How much would it cost her to go on twice? 

 

7. Any one under 10 can pay half price for a ride on the rollercoaster. The full price is 40p. 

How much do under 10’s pay? 

 

8. Lucinda went to the fairground with £1. She left with 4p. How much did she spend when 

she was there? 

 

9. Thomas went on the dodgems 6 times. Each time it cost 20p. How much did he spend? 

 

10. Robert bought 2 teddy bears. They cost £1.50 each. How much did he spend on the 

 bears? 



 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


